112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

1 NS: FRBCE ZI3c#t(GH0) -1 5 NS: Einit BREZE((EAC) 1 10.00 : 10.00| Total VP: 44.64 Rank
EW: BEEISZ FEEIEAC) -1 EW: [RE75 #i2%(B0) 1 IMP:| 10 10 5
I e -
#1 aT72 2SS5200 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 -450 Mean: 2HWS5 200 6.0 1
v Q842 4S5S4 420 300 4SS4 420 30 6 v 95 4HW4 -420 -420  3NW3 400 1.0 1
+ AKQ6 Dif: -220 NS:-3 2SS5 200 -30 2 ¢ QJ54 Dif: -30 NS:-1 4HW4 420 00 3
» 74 IMP: -6 EW:-3 3SS4 170 -40 1 » J542 IMP: -1 EW:0 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ * 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 3DE4 -130 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-2 200 Mean: 2HW-3 300 4.0 1
v T85 3SW4 -170 -230 3HS4 170 9.0 1 v JT9 2HW-2 200 140 1NW-3 300 40 1
¢ 32 Dif: 40 NS:3 5HS-2 100 40 1 ¢ AJ96 Dif: 0 NS:2 2HW-2 200 2.0 4
& KT542 IMP: 1 EW:-2 5CXS-1 100 40 2 & JT3 IMP: 0 EW:-2 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NN3 600 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE5 -660 Mean: 3NE3 600 1.0 7
v KT2 3NS4 630 450 3NN4 630 50 4 v AJ3 3NE3 -600 -620 3NE4 630 0.0 4
¢ J3 Dif: -30 NS:4 5CS5 600 40 1 ¢ 9754 Dif: -60 NS:-1 3NE5 660 -1.0 3
» KQ732 IMP: -1 EW:-5 5CN5 600 40 1 & Q432 IMP: -2 EW:-1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN-1-100 Mean: 3SN3 140 6.0 2 ||#38 aT9 3SW-2 100 Mean: 4HN4 420 50 4
v AT3 4SXS-2 -500 -80  2SN2 110 50 2 v AKJT97 2HS2110 230  3NS3 400 50 1
+ AQ6 Dif: 400 NS:-1  3SN-1 100 -1.0 6 + AQ Dif: -10 NS:-4 2HN4 170 2.0 1
92 IMP: 9 EW:9 3HW5 200 -30 1 & T73 IMP: 0 EW:3 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

2 NS: SKEAHE Z=$HER(BHO) -6 7 NS: RS RIER(BAC) -15 11.67 : 8.33 Total VP: 47.21 Rank
EW: M BUE SR EEIC) 15 EW: ZE1{_ FRE#E(BAO) 6 IMP:| 19 15 3
I e -
#1 aT72 3NN-1-50 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 -450 Mean: 2HWS5 200 6.0 1
v Q842 3NN-2 -100 300 4SS4 420 30 6 v 95 5HWS5 -450 -420 3NW3 400 1.0 1
+ AKQ6 Dif: 50 NS:-8 2SS5 200 -30 2 ¢ QJ54 Dif: 0 NS:-1 4HW4 420 00 3
» 74 IMP: 2 EW:9 3Ss4 170 -40 1 » J542 IMP: 0 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ * 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5CXS-1-100 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-1 100 Mean: 2HW-3 300 4.0 1
v T85 3HS4170 -230 3HS4 170 9.0 1 v JT9 2HW2 -110 140  1NW-3 300 40 1
¢ 32 Dif: -270 NS:4 5HS-2 100 40 1 ¢ AJ96 Dif: 210 NS:-1  2HW-2 200 2.0 4
& KT542 IMP: -7 EW:-9 5CXS-1 100 40 2 & JT3 IMP: 5 EW:6 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NS4 630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE3 -600 Mean: 3NE3 600 1.0 7
v KT2 3NN-1-100 450 3NN4 630 50 4 v AJ3 3NE3 -600 -620 3NE4 630 0.0 4
¢ J3 Dif: 730 NS:5 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:1  3NE5 660 -1.0 3
» KQ732 IMP: 12 EW:11 5CN5 600 40 1 & Q432 IMP: 0 EW:-1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3HWS5 -200 Mean: 3SN3 140 6.0 2 ||#38 aT9 2HN2 110 Mean: 4HN4 420 50 4
v AT3 2SN2110 -80  2SN2 110 50 2 v AKJT97 2HN3 140 230  3NS3 400 50 1
+ AQ6 Dif: -310 NS:-3 3SN-1 100 -1.0 6 + AQ Dif: -30 NS:-3 2HN4 170 2.0 1
92 IMP: -7 EW:-5 3HW5 200 -30 1 & T73 IMP: -1 EW:3 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

3 NS: PR5R 4822 (BH0) 4 8 NS: HBEE £RA(EAC) -3 1242 : 7.58 Total VP: 42.69 Rank
EW: HhELNE TRIEREAC) 3 EW: #iliE FRIE£E(BO) -4 IMP:| 20 14 7
I e -
#1 aT72 4SS4 420 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 -450 Mean: 2HWS5 200 6.0 1
v Q842 4SS5450 300 4SS4 420 30 6 v 95 4HWS5 -450 -420  3NW3 400 1.0 1
+ AKQ6 Dif: -30 NS:3 2SS5 200 -30 2 ¢ QJ54 Dif: 0 NS:-1 4HW4 420 00 3
» 74 IMP: -1 EW:-4 3SS4 170 -40 1 » J542 IMP: 0 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ * 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SW4 -620 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-3 300 Mean: 2HW-3 300 4.0 1
v T85 5HS-2 -100 -230 3HS4 170 9.0 1 v JT9 2HW-1100 140 1NW-3 300 40 1
¢ 32 Dif: -520 NS:-9 5HS-2 100 40 1 ¢ AJ96 Dif: 200 NS:4 2HW-2 200 2.0 4
& KT542 IMP: -11 EW:-4 5CXS-1 100 40 2 & JT3 IMP: 5 EW:1 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 5CN5 600 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE5 -660 Mean: 3NE3 600 1.0 7
v KT2 6CXN-1-200 450  3NN4 630 50 4 v AJ3 3NE3 -600 -620 3NE4 630 0.0 4
¢ J3 Dif: 800 NS:4 5CS5 600 40 1 ¢ 9754 Dif: -60 NS:-1 3NE5 660 -1.0 3
» KQ732 IMP: 13 EW:12 5CN5 600 40 1 & Q432 IMP: -2 EW:-1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN-1-100 Mean: 3SN3 140 6.0 2 ||#38 aT9 4HN4 420 Mean: 4HN4 420 50 4
v AT3 3HW4 170 -80  2SN2 110 50 2 v AKJT97 4HN4 420 230  3NS3 400 50 1
+ AQ6 Dif: 70 NS:-1  3SN-1 100 -1.0 6 + AQ Dif: 0 NS:5 2HN4 170 2.0 1
92 IMP: 2 EW:3 3HW5 200 -30 1 & T73 IMP: 0 EW:-5 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

4 NS: SHE E{EEGH0) 27 9 NS: BR#ER ZZH(BAC) 10 15.23 : 4.77 Total VP: 45.68 Rank
EW: #EE BEBEEIC) -10 EW: 8|72 R#<F(BAO) -2 IMP:| 22 : 7 4
I e -
#1 aT72 4SS4 420 Mean: 4SS5 450 40 3 [[#2 » K82 2HWS5 -200 Mean: 2HWS5 200 6.0 1
v Q842 2SS5200 300 4SS4 420 30 6 v 95 4HW6 -480 -420  3NW3 400 1.0 1
+ AKQ6 Dif: 220 NS:3 2SS5 200 -30 2 ¢ QJ54 Dif: 280 NS:6 4HW4 420 00 3
» 74 IMP: 6 EW:3 3SS4 170 -40 1 » J542 IMP: 7 EW:2 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5CXS-1-100 Mean: 4SW-2 200 100 1 ||#4 s AJ5 1NW-3 300 Mean: 2HW-3 300 4.0 1
v T85 4SW-2200 -230 3HS4 170 9.0 1 v JT9 2HE-1100 140  1NW-3 300 40 1
¢ 32 Dif: -300 NS:4 5HS-2 100 40 1 ¢ AJ96 Dif: 200 NS:4 2HW-2 200 2.0 4
& KT542 IMP: -7 EW:-10 5CXS-1 100 40 2 & JT3 IMP: 5 EW:1 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4-~
#5 4 QT3 3NN4 630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE3 -600 Mean: 3NE3 600 1.0 7
v KT2 3NN4 630 450 3NN4 630 50 4 v AJ3 3NE5 -660 -620  3NE4 630 0.0 4
¢ J3 Dif: 0 NS:5 5CS5 600 40 1 ¢ 9754 Dif: 60 NS:1 3NE5 660 -1.0 3
» KQ732 IMP: 0 EW:-5 5CN5 600 40 1 & Q432 IMP: 2 EW:1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 ¢5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ * AJ64 E 4~~44 T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN3 140 Mean: 3SN3 140 6.0 2 ||#38 aT9 2HN4 170 Mean: 4HN4 420 50 4
v AT3 2SN2110 -80  2SN2 110 50 2 v AKJT97 2HN3 140 230  3NS3 400 50 1
+ AQ6 Dif: 30 NS:6 3SN-1 100 -1.0 6 + AQ Dif: 30 NS:-2 2HN4 170 2.0 1
92 IMP: 1 EW:-5 3HW5 200 -30 1 & T73 IMP: 1 EW:3 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

5 NS: E=5# BREHEAC) 1 1 NS: SBEUIR 2I32#e(BO) -1 10.00 : 10.00| Total VP: 34.18 Rank
EW: BEEF £E2EI0) 1 EW: FREISC E32E(BAC) 1 IMP:| 10 10 8
I e -
#1 aT72 2SS5-200 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 450 Mean: 2HWS5 200 6.0 1
v Q842 4SS4 -420 300 4SS4 420 30 6 v 95 4HW4 420 -420 3NW3 400 1.0 1
+ AKQ6 Dif: 220 NS:3 2SS5 200 -30 2 ¢ QJ54 Dif: 30 NS:0 4HW4 420 00 3
» 74 IMP: 6 EW:3 3SS4 170 -40 1 » J542 IMP: 1 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 3DE4 130 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-2 -200 Mean: 2HW-3 300 4.0 1
v T85 3SW4 170 -230 3HS4 170 9.0 1 v JT9 2HW-2 -200 140  1NW-3 300 40 1
¢ 32 Dif: -40 NS:2 5HS-2 100 40 1 ¢ AJ96 Dif: 0 NS:2 2HW-2 200 2.0 4
& KT542 IMP: -1 EW:-3 5CXS-1 100 40 2 & JT3 IMP: 0 EW:-2 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NN3 -600 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE5 660 Mean: 3NE3 600 1.0 7
v KT2 3NS4 -630 450  3NN4 630 50 4 v AJ3 3NE3 600 -620 3NE4 630 0.0 4
¢ J3 Dif: 30 NS:5 5CS5 600 40 1 ¢ 9754 Dif: 60 NS:1 3NE5 660 -1.0 3
» KQ732 IMP: 1 EW:-4 5CN5 600 40 1 & Q432 IMP: 2 EW:1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN-1100 Mean: 3SN3 140 6.0 2 ||#38 aT9 3SW-2 -100 Mean: 4HN4 420 50 4
v AT3 4SXS-2 500 -80  2SN2 110 50 2 v AKJT97 2HS2 110 230  3NS3 400 50 1
+ AQ6 Dif: -400 NS:-9 3SN-1 100 -1.0 6 + AQ Dif: 10 NS:-3 2HN4 170 2.0 1
92 IMP: -9 EW:1 3HW5 200 -30 1 & T73 IMP: 0 EW:4 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

6 NS: BRE Sz BRIEH(BEHO) -4 11 NS: 5 BREE(BAC) 5 7.23 12.77| Total VP: 33.28 Rank
EW: Bk BESCZEAC) -5 EW: BB STRM(BAO) 4 IMP:| 5 12 9
I e -
#1 aT72 4SS4 420 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 -450 Mean: 2HWS5 200 6.0 1
v Q842 4SS5450 300 4SS4 420 30 6 v 95 4HW4 -420 -420  3NW3 400 1.0 1
+ AKQ6 Dif: -30 NS:3 2SS5 200 -30 2 ¢ QJ54 Dif: -30 NS:-1 4HW4 420 00 3
» 74 IMP: -1 EW:-4 3SS4 170 -40 1 » J542 IMP: -1 EW:0 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ * 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 6CXS-3 -500 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HE-1 100 Mean: 2HW-3 300 4.0 1
v T85 4SW6 -680 -230 3HS4 170 9.0 1 v JT9 2HW-2 200 140 1NW-3 300 40 1
¢ 32 Dif: 180 NS:-7 5HS-2 100 40 1 ¢ AJ96 Dif: -100 NS:-1  2HW-2 200 2.0 4
& KT542 IMP: 5 EW:10 5CXS-1 100 40 2 & JT3 IMP: -3 EW:-2 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NN4 630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE3 -600 Mean: 3NE3 600 1.0 7
v KT2 3NN4 630 450 3NN4 630 50 4 v AJ3 3NE3 -600 -620 3NE4 630 0.0 4
¢ J3 Dif: 0 NS:5 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:1  3NE5 660 -1.0 3
» KQ732 IMP: 0 EW:-5 5CN5 600 40 1 & Q432 IMP: 0 EW:-1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN-1-100 Mean: 3SN3 140 6.0 2 ||#38 aT9 2HN2 110 Mean: 4HN4 420 50 4
v AT3 3SN3140 -80  2SN2 110 50 2 v AKJT97 2HN3 140 230  3NS3 400 50 1
+ AQ6 Dif: -240 NS:-1 3SN-1 100 -1.0 6 + AQ Dif: -30 NS:-3 2HN4 170 2.0 1
92 IMP: -6 EW:-6 3HW5 200 -30 1 & T73 IMP: -1 EW:3 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

7 NS: BRffEE REEEEC) -15 2 NS: %50 ZFEZ(BHO) -6 8.33 11.67 | Total VP: 32.97 Rank:
EW: =& BEZREEEO) 6 EW: Ep & 5 & (BAC) 15 IMP:| 15 19 10
I e -
#1 aT72 3NN-1 50 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 450 Mean: 2HWS5 200 6.0 1
v Q842 3NN-2 100 300 4SS4 420 30 6 v 95 5HWS5 450 -420  3NW3 400 1.0 1
+ AKQ6 Dif: -50 NS:-9 2SS5 200 -30 2 ¢ QJ54 Dif: 0 NS:-1 4HW4 420 00 3
» 74 IMP: -2 EW:8 3SS4 170 -40 1 » J542 IMP: 0 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5CXS-1 100 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-1 -100 Mean: 2HW-3 300 4.0 1
v T85 3HS4 170 -230  3HS4 170 9.0 1 v JT9 2HW2 110 140  1NW-3 300 40 1
¢ 32 Dif: 270 NS:9 5HS-2 100 40 1 ¢ AJ96 Dif: -210 NS:-6 2HW-2 200 2.0 4
& KT542 IMP: 7 EW:-4 5CXS-1 100 40 2 & JT3 IMP: -5 EW:1 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NS4 -630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE3 600 Mean: 3NE3 600 1.0 7
v KT2 3NN-1 100 450  3NN4 630 50 4 v AJ3 3NE3 600 -620 3NE4 630 0.0 4
¢ J3 Dif: -730 NS:-11 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:1  3NE5 660 -1.0 3
» KQ732 IMP: -12 EW:-5 5CN5 600 40 1 & Q432 IMP: 0 EW:-1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3HW5 200 Mean: 3SN3 140 6.0 2 ||#38 aT9 2HN2 -110 Mean: 4HN4 420 50 4
v AT3 2SN2 -110 -80  2SN2 110 50 2 v AKJT97 2HN3 -140 230 3NS3 400 50 1
+ AQ6 Dif: 310 NS:5 3SN-1 100 -1.0 6 + AQ Dif: 30 NS:-3 2HN4 170 2.0 1
92 IMP: 7 EW:3 3HW5 200 -30 1 & T73 IMP: 1 EW:3 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

8 NS: MEH ERAEIC) -3 3 NS: KB £ RZ(FH0) 4 7.58 12.42| Total VP: 20.08 Rank:
EW: i3l BRIE£(EO) -4 EW: #REME RIZE(FIC) 3 IMP:| 14 20 14
I e -
#1 aT72 4SS4 -420 Mean: 4SS5 450 40 3 ||#2 » K82 4HW5 450 Mean: 2HWS5 200 6.0 1
v Q842 4SS5 -450 300 4SS4 420 30 6 v 95 4HWS5 450 -420 3NW3 400 1.0 1
+ AKQ6 Dif: 30 NS:4 2SS5 200 -30 2 ¢ QJ54 Dif: 0 NS:-1 4HW4 420 00 3
» 74 IMP: 1 EW:-3 3Ss4 170 -40 1 » J542 IMP: 0 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 4100 -9.0 1 || KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SW4 620 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-3 -300 Mean: 2HW-3 300 4.0 1
v T85 5HS-2100 -230 3HS4 170 9.0 1 v JT9 2HW-1-100 140  1NW-3 300 40 1
¢ 32 Dif: 520 NS:4 5HS-2 100 40 1 ¢ AJ96 Dif: -200 NS:-1  2HW-2 200 20 4
& KT542 IMP: 11 EW:9 5CXS-1 100 40 2 & JT3 IMP: -5 EW:-4 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 » A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4sw4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 5CN5 -600 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE5 660 Mean: 3NE3 600 1.0 7
v KT2 6CXN-1200 450 3NN4 630 50 4 v AJ3 3NE3 600 -620 3NE4 630 0.0 4
¢ J3 Dif: -800 NS:-12 5CS5 600 40 1 ¢ 9754 Dif: 60 NS:1 3NE5 660 -1.0 3
» KQ732 IMP: -13 EW:-4 5CN5 600 40 1 & Q432 IMP: 2 EW:1
# 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~44
#7 » Q9865 3SN-1 100 Mean: 3SN3 140 6.0 2 ||#38 aT9 4HN4 -420 Mean: 4HN4 420 50 4
v AT3 3HW4 170 -80  2SN2 110 50 2 v AKJT97 4HN4 -420 230 3NS3 400 50 1
+ AQ6 Dif: -70 NS:-3 3SN-1 100 -1.0 6 + AQ Dif: 0 NS:5 2HN4 170 2.0 1
92 IMP: -2 EW:1 3HWS5 200 -30 1 & T73 IMP: 0 EW:-5 2HS2 110 3.0 1
s A3 a 42 3HW4 4170 -30 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

9 NS: B R 255 EC) 10 4 NS: tP#EE EE(E(F0) 27 4.77 15.23 | Total VP: 30.79 Rank:
EW: 872 BE#SF(BE0) 27 EW: MER BHBIR(EAC) 1 IMP:| 7 22 12
I e -
#1 aT72 4SS4 -420 Mean: 4SS5 450 40 3 [[#2 » K82 2HWS5 200 Mean: 2HW5 200 6.0 1
v Q842 2SS5-200 300 4SS4 420 30 6 v 95 4HW6 480 -420 3NW3 400 1.0 1
+ AKQ6 Dif: -220 NS:-3 2SS5 200 -30 2 ¢ QJ54 Dif: -280 NS:-2 4HW4 420 00 3
» 74 IMP: -6 EW:-3 3SS4 170 -40 1 » J542 IMP: -7 EW:-6 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ * 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 5CXS-1 100 Mean: 4SW-2 200 100 1 ||#4 s AJ5 1NW-3 -300 Mean: 2HW-3 300 4.0 1
v T85 4SW-2 -200 -230 3HS4 170 9.0 1 v JT9 2HE-1-100 140  1NW-3 300 40 1
¢ 32 Dif: 300 NS:10 5HS-2 100 40 1 ¢ AJ96 Dif: -200 NS:-1  2HW-2 200 2.0 4
& KT542 IMP: 7 EW:-4 5CXS-1 100 40 2 & JT3 IMP: -5 EW:-4 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NN4 -630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE3 600 Mean: 3NE3 600 1.0 7
v KT2 3NN4 -630 450  3NN4 630 50 4 v AJ3 3NE5 660 -620 3NE4 630 0.0 4
¢ J3 Dif: 0 NS:5 5CS5 600 40 1 ¢ 9754 Dif: -60 NS:-1 3NE5 660 -1.0 3
» KQ732 IMP: 0 EW:-5 5CN5 600 40 1 & Q432 IMP: -2 EW:-1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN3 -140 Mean: 3SN3 140 6.0 2 ||#38 aT9 2HN4 -170 Mean: 4HN4 420 50 4
v AT3 2SN2 -110 -80  2SN2 110 50 2 v AKJT97 2HN3 -140 230  3NS3 400 50 1
+ AQ6 Dif: -30 NS:5 3SN-1 100 -1.0 6 + AQ Dif: -30 NS:-3 2HN4 170 2.0 1
92 IMP: -1 EW:-6 3HW5 200 -30 1 & T73 IMP: -1 EW:2 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

1 O NS: REHE RAMCEH0) 10 14 NS: ZBH¢sl BREZR(PAC) 8 10.44 : 9.56 | Total VP: 43.46 Rank
EW: =884 {a[ i ZE(BAC) -8 EW: 15H#E S5 E(B0) -1 IMP:| 10 9 6
I e -
#1 aT72 3SS4 170 Mean: 4SS5 450 40 3 [[#2 » K82 3NW3 -400 Mean: 2HW5 200 6.0 1
v Q842 4S5S4 420 300 4SS4 420 30 6 v 95 4HW4 -420 -420  3NW3 400 1.0 1
+ AKQ6 Dif: -250 NS:-4 2SS5 200 -30 2 ¢ QJ54 Dif: 20 NS:1 4HW4 420 00 3
» 74 IMP: -6 EW:-3 3SS4 170 -40 1 » J542 IMP: 1 EW:0 5HW5 450 1.0 1
s 854 » J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 4100 -9.0 1 || KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
% ¢V OSN 4 AKQE3 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4HXS-1 -100 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HE-2 200 Mean: 2HW-3 300 4.0 1
v T85 4HXS-2 -300 -230 3HS4 170 9.0 1 v JT9 2HW-1100 140 1NW-3 300 40 1
¢ 32 Dif: 200 NS:4 5HS-2 100 40 1 ¢ AJ96 Dif: 100 NS:2 2HW-2 200 20 4
& KT542 IMP: 5 EW:2 5CXS-1 100 40 2 & JT3 IMP: 3 EW:1 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 » A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4sw4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NS4 630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE4 -630 Mean: 3NE3 600 1.0 7
v KT2 5CS5600 450 3NN4 630 50 4 v AJ3 3NE4 -630 -620 3NE4 630 0.0 4
¢ J3 Dif: 30 NS:5 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:0 3NE5 660 -1.0 3
» KQ732 IMP: 1 EW:-4 5CN5 600 40 1 & Q432 IMP: 0 EW:0
# 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~44
#7 » Q9865 2HW4 -170 Mean: 3SN3 140 6.0 2 ||#38 aT9 3NS3 400 Mean: 4HN4 420 50 4
v AT3 3SN-1-100 -80  2SN2 110 50 2 v AKJT97 4HN4 420 230 3NS3 400 50 1
+ AQ6 Dif: -70 NS:-3 3SN-1 100 -1.0 6 + AQ Dif: -20 NS:5 2HN4 170 2.0 1
92 IMP: -2 EW:1 3HWS5 200 -30 1 & T73 IMP: -1 EW:-5 2HS2 110 3.0 1
s A3 a 42 3HW4 4170 -30 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

1 1 NS: #FHE BESEEAC) 5 6 NS: BREZ BRZE#(BO) -4 12.77 . 7.23 Total VP: 64.05 Rank
EW: M=% TTIEE0) 4 EW: Z kil BXE(BAC) -5 IMP:} 12 : 5 1
I e -
#1 aT72 4SS4 -420 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 450 Mean: 2HWS5 200 6.0 1
v Q842 4SS5 -450 300 4SS4 420 30 6 v 95 4HW4 420 -420 3NW3 400 1.0 1
+ AKQ6 Dif: 30 NS:4 2SS5 200 -30 2 ¢ QJ54 Dif: 30 NS:0 4HW4 420 00 3
» 74 IMP: 1 EW:-3 3Ss4 170 -40 1 » J542 IMP: 1 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ * 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 6CXS-3 500 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HE-1 -100 Mean: 2HW-3 300 4.0 1
v T85 4SW6 680 -230 3HS4 170 9.0 1 v JT9 2HW-2 -200 140  1NW-3 300 40 1
¢ 32 Dif: -180 NS:-10 5HS-2 100 40 1 ¢ AJ96 Dif: 100 NS:2 2HW-2 200 2.0 4
& KT542 IMP: -5 EW:7 5CXS-1 100 40 2 & JT3 IMP: 3 EW:1 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NN4 -630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE3 600 Mean: 3NE3 600 1.0 7
v KT2 3NN4 -630 450  3NN4 630 50 4 v AJ3 3NE3 600 -620 3NE4 630 0.0 4
¢ J3 Dif: 0 NS:5 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:1  3NE5 660 -1.0 3
» KQ732 IMP: 0 EW:-5 5CN5 600 40 1 & Q432 IMP: 0 EW:-1
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN-1100 Mean: 3SN3 140 6.0 2 ||#38 aT9 2HN2 -110 Mean: 4HN4 420 50 4
v AT3 3SN3 -140 -80  2SN2 110 50 2 v AKJT97 2HN3 -140 230 3NS3 400 50 1
+ AQ6 Dif: 240 NS:6  3SN-1 100 -1.0 6 + AQ Dif: 30 NS:-3 2HN4 170 2.0 1
92 IMP: 6 EW:1 3HW5 200 -30 1 & T73 IMP: 1 EW:3 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

1 2 NS: f3{FE #HFEEGHO) -14 13 NS: 25T =i (EAC) 2 4.77 15.23 | Total VP: 31.50 Rank:
EW: ZEREJR BE/KEAC) -2 EW: EZEH 3L7IIE(BO) 14 IMP:| 8 23 1
I e -
#1 aT72 4SS5 450 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 -450 Mean: 2HWS5 200 6.0 1
v Q842 4S5S4 420 300 4SS4 420 30 6 v 95 4HWS5 -450 -420  3NW3 400 1.0 1
+ AKQ6 Dif: 30 NS:4 2SS5 200 -30 2 ¢ QJ54 Dif: 0 NS:-1 4HW4 420 00 3
» 74 IMP: 1 EW:-3 3Ss4 170 -40 1 » J542 IMP: 0 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 4100 -9.0 1 || KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SE4 -620 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-1 100 Mean: 2HW-3 300 4.0 1
v T85 4HXS-2 -300 -230 3HS4 170 9.0 1 v JT9 2HW-2 200 140 1NW-3 300 40 1
¢ 32 Dif: -320 NS:-9 5HS-2 100 40 1 ¢ AJ96 Dif: -100 NS:-1  2HW-2 200 2.0 4
& KT542 IMP: -8 EW:2 5CXS-1 100 40 2 & JT3 IMP: -3 EW:-2 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~ 2 ~ ~ v AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4-~
#5 4 QT3 3NN-1-100 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE4 -630 Mean: 3NE3 600 1.0 7
v KT2 3NN3 600 450 3NN4 630 50 4 v AJ3 3NE4 -630 -620 3NE4 630 0.0 4
¢ J3 Dif: -700 NS:-11 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:0 3NE5 660 -1.0 3
» KQ732 IMP: -12 EW:-4 5CN5 600 40 1 & Q432 IMP: 0 EW:0
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN-1-100 Mean: 3SN3 140 6.0 2 ||#38 aT9 4HN4 420 Mean: 4HN4 420 50 4
v AT3 3SN-1-100 -80  2SN2 110 50 2 v AKJT97 2HN3 140 230  3NS3 400 50 1
+ AQ6 Dif: 0 NS:-1  3SN-1 100 -1.0 6 + AQ Dif: 280 NS:5 2HN4 170 2.0 1
92 IMP: 0 EW:1 3HW5 200 -30 1 & T73 IMP: 7 EW:3 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

1 3 NS: 22T EHRZEAC) 2 1 2 NS: #B{E3E #FER(FIO0) -14 15.23 : 4.77 Total VP: 60.86 Rank
EW: E&H 2k J51EEH0) 14 EW: Z28EB 2% K(BAC) -2 IMP:} 23 : 8 2
I e -
#1 aT72 4SS5 -450 Mean: 4SS5 450 40 3 [[#2 » K82 4HWS5 450 Mean: 2HWS5 200 6.0 1
v Q842 4SS4 -420 300 4SS4 420 30 6 v 95 4HWS5 450 -420 3NW3 400 1.0 1
+ AKQ6 Dif: -30 NS:3 2SS5 200 -30 2 ¢ QJ54 Dif: 0 NS:-1 4HW4 420 00 3
» 74 IMP: -1 EW:-4 3SS4 170 -40 1 » J542 IMP: 0 EW:1 5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4SE4 620 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HW-1 -100 Mean: 2HW-3 300 4.0 1
v T85 4HXS-2 300 -230 3HS4 170 9.0 1 v JT9 2HW-2 -200 140  1NW-3 300 40 1
¢ 32 Dif: 320 NS:-2 5HS-2 100 40 1 ¢ AJ96 Dif: 100 NS:2 2HW-2 200 2.0 4
& KT542 IMP: 8 EW:9 5CXS-1 100 40 2 & JT3 IMP: 3 EW:1 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NN-1 100 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE4 630 Mean: 3NE3 600 1.0 7
v KT2 3NN3 -600 450  3NN4 630 50 4 v AJ3 3NE4 630 -620 3NE4 630 0.0 4
¢ J3 Dif: 700 NS:4 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:0 3NE5 660 -1.0 3
» KQ732 IMP: 12 EW:11 5CN5 600 40 1 & Q432 IMP: 0 EW:0
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 3SN-1100 Mean: 3SN3 140 6.0 2 ||#38 aT9 4HN4 -420 Mean: 4HN4 420 50 4
v AT3 3SN-1100 -80  2SN2 110 50 2 v AKJT97 2HN3 -140 230  3NS3 400 50 1
+ AQ6 Dif: 0 NS:-1  3SN-1 100 -1.0 6 + AQ Dif: -280 NS:-3 2HN4 170 2.0 1
92 IMP: 0 EW:1 3HW5 200 -30 1 & T73 IMP: -7 EW:-5 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




112 F< 4 >2FMpERF R

w ==> R4

#1: 11 BIE > 5(64.05) #2: 13 B H (60. 86) #3 2 ;t%%/ij:m 21)

1 4 NS: FiEsl BEE=EIC) 8 10 NS: REE R54{_(F0) 10 9.56 10.44| Total VP: 28.61 Rank:
EW: #BaH =EZ=EH0) -10 EW: RE5i0 @ E(BAC) -8 IMP:| 9 : 10 13
I e -
#1 aT72 3SS4 -170 Mean: 4SS5 450 40 3 [[#2 » K82 3NW3 400 Mean: 2HWS5 200 6.0 1
v Q842 4SS4 -420 300 4SS4 420 30 6 v 95 4HW4 420 -420 3NW3 400 1.0 1
+ AKQ6 Dif: 250 NS:3 2SS5 200 -30 2 ¢ QJ54 Dif: 20 NS:0 4HW4 420 00 3
» 74 IMP: 6 EW:4 3SS4 170 -40 1 » J542 IMP: -1 EW:-1  5HW5 450 1.0 1
s 854 s J9 3NN-1 50 8.0 1 ||aJT74 46 4HW5 450 1.0 7
v A63 v T97 3NN-2 100 -9.0 1 ||v KJT873 I v AQ2 4HW6 480 2.0 1
¢ J94 ¢ T82 * A * KT9
+ QT83 & AKJ95 » Q3 & KT9876
%+ VBN 4 AKQ63 % ¢ VAN 4 AQ953
N ~4441 vKJ5 N ~2~1~ v64
S ~4441 ¢753 S ~2~1~ ¢ 87632
E ~~~~~ & 62 E 4~4~3 &A
W ~~~~~ W 4~4~3
#3 » 862 4HXS-1 100 Mean: 4SW-2 200 100 1 ||#4 s AJ5 2HE-2 -200 Mean: 2HW-3 300 4.0 1
v T85 4HXS-2 300 -230 3HS4 170 9.0 1 v JT9 2HW-1-100 140  1NW-3 300 40 1
¢ 32 Dif: -200 NS:-2 5HS-2 100 40 1 ¢ AJ96 Dif: -100 NS:-1  2HW-2 200 2.0 4
& KT542 IMP: -5 EW:-4 5CXS-1 100 40 2 & JT3 IMP: -3 EW:-2 2HE-2 200 2.0 1
& KJ97543 a QT 4HXS-1 100 40 1 » 863 2HW-1 100 1.0 4
v Q9 v 43 3DE4 130 30 1 + v 75432 2HE-1 100 1.0 2
¢ 985 + AKT764 3SW4 470 2.0 1 ¢ 43 2HW2 110 6.0 1
aJ » A86 4HXS-2 300 20 2 & A96
deVAN LA 6CXS-3 500 7.0 1 s 1972
N 4 ~2 ~ ~ ¢ AKJ762 4SW4 620 -90 1 v AQ6
S 4~2~~ ¢QJ 4SE4 620 -9.0 1 ¢ T7
E ~4~4~ Q973 4SW6 680 -10.0 1 & Q874
W ~4~4~
#5 4 QT3 3NS4 -630 Mean: 3NS4 630 50 3 ||#6 s Q3 3NE4 630 Mean: 3NE3 600 1.0 7
v KT2 5CS5-600 450  3NN4 630 50 4 v AJ3 3NE4 630 -620 3NE4 630 0.0 4
¢ J3 Dif: -30 NS:4 5CS5 600 40 1 ¢ 9754 Dif: 0 NS:0 3NE5 660 -1.0 3
» KQ732 IMP: -1 EW:-5 5CN5 600 40 1 & Q432 IMP: 0 EW:0
& 9542 s A8 3NN3 600 40 2 ||a K987 & A42
v Q9643 v AJ87 3NN-1 100 -11.0 2 ||v KQ6 — v 952
¢ Q8 ¢ T9754 B6CXN-1 200 -12.0 1 ||e KT8 ¢ AJ2
& 98 & T5 » K75 & AJ96
oo VABN 4 KI76 o ¢ VAN 4 JT65
N 5~~42 o5 N ~~~~~ v T874
S 5~ ~42 ¢ AK62 S ~~~~~ + Q63
E ~~~~~ & AJ64 E 4~~44 &T8
W ~~~~~ W 4~~414
#7 » Q9865 2HW4 170 Mean: 3SN3 140 6.0 2 ||#38 aT9 3NS3 -400 Mean: 4HN4 420 50 4
v AT3 3SN-1100 -80  2SN2 110 50 2 v AKJT97 4HN4 -420 230 3NS3 400 50 1
+ AQ6 Dif: 70 NS:-1  3SN-1 100 -1.0 6 + AQ Dif: 20 NS:5 2HN4 170 2.0 1
92 IMP: 2 EW:3 3HW5 200 -30 1 & T73 IMP: 1 EW:-5 2HS2 110 3.0 1
s A3 a 42 3HW4 170  -3.0 1 ||as A853 » K764 2HN3 140 3.0 4
v QJ852 + v K97 2HW4 470 -3.0 1 ||v Q62 v 83 2HN2 110 3.0 2
¢ 742 * KJ985 4SXS-2 500 -90 1 ||eT5 ¢ J832 3SW-2 100 4.0 1
& A76 S » KT5 » QJ62 » A98
VAN A, KIT7 ¢V AN 4, Q2
N 2~~2~ 9v64 N ~33~3 54
S 2~~2~ ¢T3 S ~33~3 ¢ K764
E ~33~1 #QJ843 E ~~~~~ & K54
W ~33~1 W ~ ~~~~




